If your laser is in the form shown in the figure below, please follow these steps to install the Type 3 If your laser is 20W or 30W, please follow these steps to install the Z-axis height Z-Achsen hahe Einste"er Zubehérliste Typ 1 Wenn sich lhr Laser in der in der folgenden Abbildung gezeigten Form befindet, befolgen Sie diese Schritte,
um das Z-Achse-Hoéhenanpassungsmodul zu installieren.

P s Type 1 If your laser is in the form shown in the figure below, please follow these steps to install the Z-axis height Type 2 :
Z-Axis H eig ht Adj uster adjustment module. Z-axis height adjustment module. adjustment module. . .
Installation M I Installationsanleitung
nstailiation ivianua T - - .
) {-_-___________._.--— CIat =l = |: 3 Cats
= 4 \“g H { J_l ) o n =i — | || )
- I { 000 ] [ — T1 :
[ [ ] _ . % % . — 4 ; 2 9 b X o) Q I ) I - B . B I | i
| f - {
I N A ie B jT[ | I W N
o i | | i |
[ C ) 03 == ‘ 1 2 o o - D 03 = =00
£ = i} [ 9 ) =L dk=l & & 7
ik | & Y OJG 2 (__E]} L= L E i L & =] OJG a
] & & @ - : 0] 9 [ m—— ) ] & & @ - 4 0] a
o =] [ - < 0 T — o e - < o 0
o o s ¥ — ____,,,J — 21 22 "] 0 ¢ @ 1 | __,.»-J
N “ l I ¢ 2 lle"_\-':'J ‘ ¢ ) o Remove the laser slide rail and laser 9 Rotate the handle to align the hole positions 2-1 and 2-2 Ml o o o Qo © 0) !
o -~ . n I] Cl BE] [=] \ in the figure above o ~ ~ u I] o e E) G
' 2 & _H _J,,/J'L/ NG &P © g g © — @ Remove the laser and slide rail 2 o _H @ &|F S o o @
” A = b . e ' ” = b
] CE:J . 21 2-2 | o g _ | 2-1 2-2
U H | N | —— U H |
) = = | o Type L 0 Remove the original laser backplate and laser 9 Rotate the handle to align hole positions 2-1 9 Fix laser and Z-axis height adjuster, M5*8/2pcs = T ™ I_'\I ') = = | o TYP L c Entfernen Sie die urspriingliche Laser -Ruckplatte e Drehen Sie den Griff, um die Lochpositionen 2-1 e Fix Laser- und Z-Achse-Hohe, M5*8/2pcs
@ @ | 1 and 2-2 in the figure above W e — @ @ | 1 und den Laser auszurichten und 2-2 in der Abbildung oben
| — - ~ | D GlEBD | | Lt —
| = C g T | |
. Z-Axis Height Adjuster Module*1pcs Yig HL Two Fixed Focus Modes P W .. T . ‘ . o Z-Achsenhdhe Einstellungsmodul*1pcs ) g -]IM { Zwei feste Fokusmodi
9\ k_ A | © 4 F '_" i " I - 9\ I K_ A |
L L o s
O b i P 1 ED = | O b il & e
T = e ) A e o o 9 ——
o O ! 1 @ g | rEEE o O - , Ll ! -1
Type 2 = — il T 1 o [ ——
Q O Type 3 Q O
0 o M4X8*12PCS M4X6*4PCS 0 o M4X8*12PCS M4X6*4PCS
9 Assemble laser slider and Z-axis height adjuster, e Adjust the handle to align the hole positions 4-1 and 4-2,
. M5*8 screw M5*8 screw .
®) @) e English _ O O e English
o g o] ° Deutsch | | .3‘;! O g O [| < Deutsch
i _ ° i H2.5 ) ! _ ; H2.5
a "'("__‘)\. (D) o Fra_ngals © Install laser slider, M4*8/4pcs @ Assemble the laser a "'("__‘)\. ©) o * Francais ) ) i i ) i
L | | e |[taliano N e Assemble the combined Z-axis height adjuster and machine, M4*8/4pcs ¢ g | | — |l e |taliano 2 &Aazzﬁﬁr:r&ﬂﬁfgiigggmblnlerten Z-Achsenhdhen-Einsteller und die
Axnr Fom-uua- ~ M4X10*4PCS [ Axnr Fom-mya- ~ M4X10*4PCS ]
.
F03-0191-0AAT VO1 ESpanOI . - Fixed focus height 2.5mm Fixed focus height 10mm . F03-0191-0AAT VOT ° ESpanOI . Fix Focus Hohe 2,5 mm Fix Focus Hahe 10 mm
H3 . O A Precautions " )
A\ Precautions A _ _ , _ S ‘ ‘ A VorsichtsmaBnahmen
In prder to ensure that the machl_ne does not shake during operation and is more stable, the Z-axis h(_elght adJu;ter restricts the laser from working as close to the
0 In order to ensure that the machine does not shake during operation and is more stable, the Z-axis height adjuster restricts the laser from working as close to the height of the POM wheel as [_ height of the POM wheel as possible. So when using, the engraved surface needs to be raised to a suitable position. . Um sicherzustellen, dass die Maschine wéhrend des Betriebs nicht schiittelt und stabiler ist, beschrankt der Z-Achsenhohe der Laser den Laser so nahe wie mdglich an der Hohe des Pom-Rades.
Note: The p|ctu re is for reference F)n|y, ‘_ possible. So when using, the engraved surface needs to be raised to a suitable position. e | The Y-axis engraving format has been reduced by 20mm due to the addition of the Z-axis height adjuster. If a limit switch is required, the user needs to move it H|nwe|5._. Da§ Bild dient nur als Referenzl ‘_ Bei der Verwendung muss die gravierte Oberflache in eine geeignete Position angehoben werden.
the actual PrOdUCt shall preVa" 9 The Y-axis engraving format has been reduced by 20mm due to the addition of the Z-axis height adjuster. If a limit switch is required, the user needs to move it forward by 20mm. H: forward by 20mm. Das tatsagh“Che Produkt mUSS herrschen Das Y-A-Achse-Gravurformat wurde aufgrund der Zugabe des Z-Achsenhéhe-Einstellers um 20 mm reduziert. Wenn ein Limitschalter erforderlich ist, muss der Benutzer ihn um 20 mm
Fir mehr Informationen, verschieben.
Bitte scannen Sie den QR -Code M5X8*6PCS Fixes Focus -Stlick*1pcs

For more information,

M5X8*6PCS Fixed Focus Piece*1PCS
please scan the QR code. e Fix Z-axis height adjuster and machine, M4*10 screws @ Assemble the laser



Type 2 Si votre laser est dans le formulaire illustré dans la figure ci-dessous, veuillez suivre ces étapes Type 3  Si votre laser est de 20W ou 30W, veuillez suivre ces étapes pour installer le module de
pour installer le module de réglage de la hauteur de I'axe Z. réglage de la hauteur de I'axe Z.

q - Si votre laser est dans le formulaire illustré dans la figure ci-dessous, veuillez suivre ces étapes pour installer le
Liste des accessoires Type 1 g . pes p

Typ 3 Wenn lhr Laser 20W oder 30 W betragt, befolgen Sie diese Schritte, um das Z-Achse
-Hohenanpassungsmodulzu installieren. Ajusteur de hauteur de lI'axe Z

Installation Manuel

module de réglage de la hauteur de I'axe Z.

Typ 2 Wenn sich lhr Laser in der in der folgenden Abbildung gezeigten Form befindet, befolgen Sie

diese Schritte, um das Z-Achse-Hohenanpassungsmodul zu installieren.

Type 2 -
€ Assembler le curseur laser et I'expert en hauteur de @ Réglez la poignée pour aligner les positions du trou Type 3

I'axe z, m5 * 8 vis 4-1 et 4-2, m5 * 8 vis

ooo | = = ) E’I = H { \ ooo 9 r
. L T | L
0
I o Q L_U_| . I ) 3 0 I
oo —— ; ooo0 — o s
o 2 I I | - N
!
coo ol o A . i = i - ?' M i u)l‘ll 1 Q00 ]
[ : L = ) — g ¢ cl= O o = X = e .. 3 i i l A S tw :ﬁl:ﬂ =l 1) o o
a==n) e~ N = o o A s i~ - § 2 ‘@ e - o o i
i 2-2 B ! . > . | S s o 00 @ ’ R 22
—— = I i & IS . o o I __,--'J
Al . = ~ # bl = ik _ . . . . . Lo . .
y n Entfernen Sie die Laserschiebende und den Laser 9 Drehen Sie den Griff, um die Lochpositionen 2-1 und 2-2 - ) I O O =l o Retirez le rail de glissement laser et le laser 9 Faites pivoter la poignée pour aligner les positions du trou
’ \ \ in der obigen Abbildung auszurichten b = ] I Eig I.ZJ.IJ\—;-:'J P \ 2-1 et 2-2 dans la figure ci-dessus N
. [ =] J . 2
\ m I n . . . . . . Q o . (
@ Entfernen Sie den Laser und die Schienenschiene @ Z-Achsenhdhe und Maschine zusammenstellen, M4*6 | = 1| o e ° 0 o © \ — T . . . ,
' - M E — @ Retirez le laser et le rail de glissement @ Assemblez un expert en hauteur de I'axe
—ll = ‘ ) S 2-1 22 | z et la machine, M4 * 6
T i ] L - 14 - s
(r r ' ] Gl IEDY ﬂ Supprimer la plaque arriére laser d'origine 9 Faites pivoter la poignée pour aligner les positions e Correction d'un expert en hauteur au laser et a I'axe z, M ] l L
] | - d 5 | et le laser des trous 2-1 et 2-2 dans la figure ci-dessus M5 * 8/ 2pcs ( ’ ] @l |
. .3 ope e o | . | | G ol
i | i . e o * 2 | , . ! Cqpe L
T 1 Foow g 4 | % ") . . * . . . LN a |
g & 1¢i]]¢i : I . ) ] 1 £ |:'| Module d'expert en hauteur de I'axe z * 1pcs Deux modes de mise au point fixe ¢ ) - T " |
L . g ¥ . E i} g B
) . B e a o P | e B T 1 S O ?‘x LA R P i .=L.« r
2 c ¥ S - T - [ | [ 3 - ]
e ; LI ) | 2 ) r - = ® i
\:. F I‘_"_-_-_-f_ '._ e . u J Wl e n i: | LI ~ o @ &5 a 9
s 41 42 : | ) i @ o ,_I el T/ M
- i 4-1 4-2

Yy
I\C‘}") M4X8*12PCS M4X6*4PCS

Typ P 6 Montage Laser Slider und Z-Achse Height Segal, e Stellen Sie den Griff ein, um die Lochpositionen 4-1 und 4-2, Typ 3
M5*8-Schraube auszurichten

M5*8 Schraube O
o
- O O e English
3 O g O[T ¢ Deutsche
i - H H2.5
© |Installieren Sie den Laser -Schieberegler, M4*8/4PCS @ Montieren Sie den Laser Q i@\' ;D] O ¢ Fra.nc;als llez | I * ler le |
| ] | | e [taliano n e Assemblez le réglage et la machine combinés de la hauteur de I'axe z, © Installez le curseur laser, M4 * 8 / 4PCS @ Assembler le laser
axnr Fon-pa- E - | M4X10*4PCS | M4 * 8 / 4pcs
F03-0191-0AAT VO1 hd spano . Hauteur de mise au point fixe 2,5 mm Hauteur de mise au point fixe 10 mm

A\ Précautions

Afin de s'assurer que la machine ne secoue pas pendant le fonctionnement et est plus stable, le réglage de la hauteur de I'axe Z empéche le laser de travailler
aussi prés de la hauteur de la roue POM possible. Ainsi, lors de I'utilisation, la surface gravée doit étre élevée en position appropriée.

A\ VorsichtsmaBnahmen H3 A\ Précautions
0 Umdsickll'e'rrz]us(tjelle;, dasts gie Néagc(:im\e/wéhregd des Betrgbs nicht StChgt};eltf#ng stabiler ist, bESCTféFf:kt'?’er Z—Achﬁeghéhe dsr Laser den Laser so nahe wie méglich Afin de s'assurer que la machine ne secoue pas pendant le fonctionnement et est plus stable, le réglage de la hauteur de I'axe Z empéche le laser de travailler aussi prés de la hauteur de la roue
an der Hohe des Pom-Rades. Bei der Verwendung muss die gravierte Oberflache in eine geeignete Position angehoben werden. Remarque: |'image est pour référence uniquement, [i POM possible. Ainsi, lors de I'utilisation, la surface gravée doit étre élevée en position appropriée.

Le format de gravure de |'axe y a été réduit de 20 mm en raison de I'ajout de I'ajustement de hauteur de I'axe Z. Si un interrupteur de limite est requis,

Das Y—A—Achse»Gravurformat w_urde aufgrund der Zugabe des Z-Achsenhdhe- Einstellers um 20 mm reduziert. Wenn ein Limitschalter erforderlich ist, muss der Le prOdL“t réel doit preVa|0|r 9 Le format de gravure de I'axe y a été réduit de 20 mm en raison de I'ajout de I'ajustement de hauteur de I'axe Z. Si un interrupteur de limite est requis, I'utilisateur doit le faire avancer de 20 m
Benutzer ihn um 20 mm verschieben. p | d'inf H i a -
our plus d'in ormations, MSXE"6PCS bisce de mi - I'utilisateur doit le faire avancer de 20 m
H * iece de mise au poin
Veuillez analyser le code QR. fixe * 1pcs P e Correction de I'ajustement et de la machine de hauteur de I'axe z, M4 * 10 vis @ Assembler le laser

9 Fixe Z-Achse Height Segal und Maschine, M4*10 Schrauben @ Montieren Sie den Laser



Si su laser tiene el formato que se muestra en la figura siguiente, siga estos pasos para instalar el médulo
de ajuste de altura del eje Z.

Tipo 1

del regolato re di altezza accessofri regolazione dell'altezza dell'asse Z. modulo di regolazione dell'altezza dell'asse Z. di regolazione dell'altezza dell'asse Z . ., .
instalacion del ajuste de H-H

Manuale dl InSta"aZIOI‘Ie Elenco degli Tipo 1 Se il laser é nella forma mostrata nella figura seguente, seguire questi passaggi per installare il modulo di Tipo 2 Se il laser é nella forma mostrata nella figura seguente, seguire questi passaggi per installare il Tipo 3 Seil tuo laser & da 20 W o 30 W, segui questi passaggi per installare il modulo Instrucciones de

dell’'asse Z
e — — °
R 1] 0 ltura del eje Z -- |
Il e ] { 0 A altura del eje I { ‘0"
_ _ I | Qo0 ] '_
[ 0 y . — ; 2 9 ° v [ ] — . 7 0
it | TITI € ' i 1 T T
J| IL A\ o000 . ‘m” J| IL | IL :I |: Il'l-\
p 1 | o
. l A S tL_iL; =ﬁ‘:0 '=| . (o] O \_ l ) 3 i t! (| =ﬁ|:0
5 B s} o g 0 L g 2 ',:? L=l - -
l— —dil © & =] i | a @'—— Le o o - A1 & B o & o a0
° o o ° < i _j_ij . ' o ° o <o ' 09 0
| 4] -3 2-1 2-2 - o i o
R 5 i} =7 N\ I o x R t S | — ]
= s . o o < [=]) / f | o Rimuovere la guida di scorrimento del laser e il laser a Rl{otare la maniglia per allineare le posizioni dei fori 2-1 e 2-2 el = o O O l,.,' VDJ /
] = = n I] Cl BE] =) = \ nella figura sopra ] = = ETE g_l l =
'-.{.5 :.-' . 9 e o e © a0 g © — @ Rimuovere il laser e la guida di (] Assgmblare il regolatore di altezza dell'asse Z e la "-;: :" de o ° 6 6 o O /
' I _u  —— — I scorrimento macchlna, M4*6 ' | = i -
O g - &1 22 | © g . 241 2-2
" 8§ i Tipo 1 i la pi iore el | iginali igli i izioni dei issare il laser e il regolatore di altezza dell * i S > 8 I A , A .
) . & | o 0 Rimuovere la piastra posteriore e il laser originali 9 Ruotare la maniglia per allineare le posizioni dei Fissare il laser e il regolatore di altezza dell'asse Z, M5*8/2 pezzi - ) . @ | o Gire la maniia para alinear las posiciones de 9 Ajuste de altura del laser fijo y del eje Z, M5*8/2 piezas
e et || fori 2-1 e 2-2 nella figura sopra 1 L b= || 2 manija p s P - J oy e s P
]l | 11 - ]l | 11 los orificios 2-1y 2-2 en la figura anterior.
| | C TI |
il N H ' ' * P . . [ A i = - |
Modulo di regolazione dell'altezza dell'asse Z*1 pz g - \ . Due modalita di messa a fuoco fissa il o _ Modelo de ajuste de altura del eje Z * 1 pieza D dos de enf fij
8] % | . T 1. - o % os modos de enfoque fijo
C L9 4 % @ N e =R _ O o)
o o — = i =l’ | e - H ! — ' ! o o
i - 11 Tipo 2 \‘ ; ? ] .
Q O e Q O
o S M4X8*12Pz M4X6*4Pz o ) o ) o S M4X8*12PCS M4X6*4PCS
9 Assemblare il cursore laser e il regolatore di altezza *g*olare la maniglia per allineare le posizioni dei fori 4-1 e 4-2, vite
dell'asse Z, vite M5*8 58
© Og—- T\ g O O e English
S |  English s T 3] | g © o Deutsche s
a "'{‘j“- {C}J o e Deutsch ’ @ |Installare il cursore laser, M4*8/4 pezzi @ Assemblare il laser Q "'{‘j“- {C}J o . Frangais
L | | L) Fra n§a|s " eAssembIare il regolatore di altezza dell'asse Z combinato e la macchina, M4*8/4 pezzi | | 1 ° Italiano i e Ensamble el ajustador de altura del eje Z combinado y la maquina, M4*8/4 piezas
° |ta|ian0 M4X10*4Pz ] e Frimonoa - - M4X10*4PCS ]
F03-0191-0AAT VO1 . Altezza di messa a fuoco fissa 2,5 mm Altezza di messa a fuoco fissa 10 mm A . F03-0191-0AAT VO1 ° Espan()l . . Altura de enfogue fijo 2,5 mm Altura de enfogue fijo 10 mm
« Espaiiol "3 A Precautions Precautions 3 )
Per garantire che la macchina non si muova durante il funzionamento e sia piu stabile, il regolatore di altezza dell'asse Z impedisce al laser di lavorare il piu A Precauciones
Per garantire che la macchina non si muova durante il funzionamento e sia piu stabile, il regolatore di altezza dell'asse Z impedisce al laser di lavorare il piu vicino possibile all'altezza della vicino possibile all'altezza della ruota POM. Pertanto, durante |'utilizzo, la superficie incisa deve essere sollevata in una posizione adatta. . Para garantizar que la maquina no tiemble durante el funcionamiento y sea més estable, el ajustador de altura del eje Z impide que el laser trabaje lo més cerca posible de la altura de la
T . N P . —_— L L h 2 . . . —_——— ,
Nota: | |mmag!n‘e e solo di riferimento, ‘_ ruota POM. Pertanto, durante I'utilizzo, la superficie incisa deve essere sollevata in una posizione adatta. 9 Il formato di incisione dell'asse Y & stato ridotto di 20 mm grazie all'aggiunta del regolatore di altezza dell'asse Z. Se & necessario un finecorsa, I'utente deve Nota: La Imagen es solo de referencia, ‘_ rueda POM. Por lo tanto, cuando se utiliza, la superficie grabada debe elevarse a una posicion adecuada.
préevarra il prodotto reale 9 Il formato di incisione dell'asse Y ¢ stato ridotto di 20 mm grazie all'aggiunta del regolatore di altezza dell'asse Z. Se € necessario un finecorsa, I'utente deve spostarlo in avanti di 20 mm. spostarlo in avanti di 20 mm. debe prevalecer el prOdUCtO real. Para . . . . L . . . . . o . .
obtener mas informacidn, escanee el @ El formato de grabado del eje Y se ha reducido en 20 mm debido a la incorporacion del ajustador de altura del eje Z. Si se requiere un interruptor de limite, el usuario debe moverlo hacia
! adelante 20 mm.

Per ulteriori informazioni, scansiona il
H M5X8*6Pz Fixed Focus Piece*1Pz A A M5X8*6PCS Pieza de enfoque fijo * 1 PCS
codice QR. e Fissare il regolatore di altezza dell'asse Z e la macchina, viti M4*10 @ Assemblare il laser COdIgO QR. aue



Tipo 3 Sisu laser es de 20W o 30W, siga estos pasos para instalar el médulo de ajuste

Tipo 2 Si su laser tiene el formato que se muestra en la figura siguiente, siga estos pasos para instalar
de altura del eje Z

el moédulo de ajuste de altura del eje Z.

000 | - = =
o T
000 — - o O
D iy a . =]
000 8 ]
Gl @l |6 o 0O
o o b g g o [ ]
2-1 2-2
p 9 Gire la manija para alinear las posiciones de los orificios 2-1y 2-2 en \
J . la ilustracién de arriba. =
@ Retire el laser y el riel de seguimiento. @ Maquina de montaje y altura del eje Z, M4*6
L.\I—:'-‘—._l
ol D
L i

4-1 42

Tipo p e Montaje del control deslizante laser y del sensor de altura del @ Ajuste la manija para alinear las posiciones de los orificios 4-1y 4-2, Tipo 3
tornillo M5*8

eje Z, tornillo M5*8

@ montar el laser

@ Instale el control deslizante laser, M4*8/4PCS

A Precauciones

0 Para garantizar que la maquina no tiemble durante el funcionamiento y sea mas estable, la altura del eje Z del laser limita el laser lo mas cerca posible de la altura
de la rueda de pompones. Al usarlo, la superficie grabada debe elevarse a una posicion adecuada.

El formato de grabado del eje Y-A se ha reducido en 20 mm debido a la incorporacién del ajustador de altura del eje Z. Si se requiere un interruptor de limite, el

@ usuario debe moverlo 20 mm.

@ montar el laser

9 Altura fija del eje Z segal y maquina, tornillos M4*10



	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面



